PSAC ASSESSMENT REPORT 2023
MODERN CHINESE
(SUBJECT CODE: 200)
INTRODUCTION
The 2023 Modern Standard Chinese PSAC Question Paper was based on the prototype paper
set by the Mauritius Examinations Syndicate. A 6™ cohort of Grade 6 students sat for the
Primary School Achievement Certificate (PSAC) Examination, as part of the ongoing Nine-Year

Continuous Basic Education (NYCBE) reform.

The Modern Chinese assessment focuses on the following areas:
1. Reading Comprehension (40%)

2. Writing (30%)

3. Grammar and Vocabulary (30%)

These assessment objectives are in line with the goals and objectives of the National
Curriculum Framework (NCF) for Primary Education. A variety of tasks were set at different
levels underpinning the principle of greater fairness to allow students from the whole

spectrum of the ability range to demonstrate their proficiency levels.

General Comments

For the cohort of the year 2023, there was a total of 210 candidates, out of which 121
candidates have passed the examinations and 89 candidates were unable to attain a pass
mark in the subject. The total percentage pass is 57.62%, among which 12% of the
candidates got grade A. Nevertheless, there were still 42.38% of the candidates who were
unable to attain a pass mark in the subject. Teachers should give greater consideration to

this, and should investigate into its causes in order to improve pupils’ performance.

Specific Comments

Question 1A

This question assesses the candidates’ knowledge of basic vocabulary. It relates to the
labelling of 5 pictures and carries a total of 5 marks. Most candidates did not perform well in
this exercise and could not write “X%/Zh4)”, “EF" and “Ii§ 1. Some candidates were



unable to write the whole Chinese characters but only part of them. Others wrote“Jli;” as an
answer instead of “£-F”which was also accepted as a correct answer. Pictures 3 & 5 were
easier and most of the candidates got the correct answer.

Question 1B

The purpose of this question is to assess the candidates’ reading comprehension ability at a
basic level. It is done through tasks which require candidates to match a sentence to the
corresponding picture. It carries 5 marks. Most candidates attempted this question
successfully.

Question 2A

A range of grammatical structures was tested through multiple-choice items in this question.
This year, the use of conjunction (i%1#]), interrogative pronouns (%E[4Xif]) , measure
word reduplication (FE1d#EZ) , the verb forms (Zfjid]) , comparative particle (Ft) and
pronouns ({81 ) were assessed. Most of the candidates didn’t perform well on this
guestion, revealing pupils’ poor knowledge of Chinese grammar. It consists of 10 multiple
choice questions which carry 1 mark each.

The best-done items were:

ltem 2 V595 NN EMIE A H, RAREL I — ALY

Item 5 %1 A —MH.

Item 6 7 5L A SRASASHRAR BT

The following items were found challenging:

Item 1 BRI E BRI SRAR G, BT LMR 22 41 E N\ HR 2 00OkIX B .
Item 3 KW RE LK 5.

Item 4 TN K138 fl A= 7ERB L -

ltem 9 JHIHEE — K RIER M T

Many candidates could not differentiate between %% and &% . They chose #% instead
of ZFH .

Item 10 L SCIRIINR, 1 KFX AR

Question 2B

For this task, the candidates were required to deal with vocabulary in context through
multiple-choice items. Only 14% of the candidates scored full marks on this question and 14%
could not score any mark.

The best done items were:

ltem 3 KOKA 1, FARNE—FR A0



Item 4 5 RER KT T, FAATERRER A,
Item 5 W& IRER T, AL R ARG B3,
The following items were found challenging:

Item 1 IR 1, "TLAME & )L7KTS? Many candidates wrongly chose “752%” as the answer.
Most candidates had problems in choosing the right answer. It seems that the candidates did
not understand the meaning of the sentence as well as the vocabulary “7&".

ltem 2 XLMHE T, HAR T,

Question 3

Question 3 assesses the candidates’ ability to read with understanding a text pitched at
intermediate level, and also be able to locate explicit information from the text. In general,
candidates performed rather satisfactorily. 27% of the candidates scored between 8 and 10
marks whereas 42% scored between 4 and 7 marks.

The passage set was about a notice for the Notre Dame Des Victoires RCA school Grade 6
students concerning a water saving activity to be held on the 22" March 2023 from 9 am to
noon at the neighbourhood river. This question carries 10 marks in all and the candidates
were required to answer 9 questions.

The following items were found challenging for the candidates:

Item 3 R EATAT A 1ED)? The expected answer was: ¥] #1228 MU /N and PAZKA
FHEI/ECEE 3. Many candidates could not understand the verb 4§47 and the word i
3lJ. Theywrotedown H#f/ —~0 Z =4 —=H_=+="H.,

Item 4 7EWF— K Z54T153)? The expected answerwas: - 0 ~=#=H —~+_"-H. Many
candidates did not understand the question word #§—°% and wrongly wrote “Zfil/ 471,
MBI+ Z R MAEZH T H /MK R

The best done items were:
Item 7 WIRARE S INIXNES), EERHERIFEZE? The correct answer was: K /i515/
Item 8 LI KN A 445 ? The correct answer was: XI| 75 .

Item 9 FAE A HELIE S84 2 The correct answer was: 4267534,

Question 4

Question 4 was split into two parts: 4A and 4B. This type of comprehension passage is of
higher order compared to that of Question 3. Candidates’ ability in reading comprehension
was assessed through their understanding of the extended passage. The narrative passage
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set was about two good friends called Yun Yun and Fang Fang who sat together in class and
went home together every afternoon. One day, YunYun did not smile and did not talk in the
classroom. Everyone asked her the reason why she was not speaking but she did not reply.
Suddenly Fang Fang succeeded in making her laugh. In fact, Yun Yun neither smiled nor talked
the whole day because she had lost her 4 incisors teeth.

A few candidates demonstrated excellent understanding of the passage. 13 % scored full
marks in question 4A and 6% of them scored full marks in question 4B. Weaker ones had
difficulties in understanding the passage, so they could barely score some marks.

Question 4A

Question 4A assesses candidates’ ability to locate explicit information from the passage
through multiple-choice items. It consists of 5 multiple choice questions, carrying 1 mark each.
Some candidates did not understand the questions; hence they scored between 0-2 marks.

The best-done items were:

ltem 1 &K N, mnoafMPBE—ERAX, .

Item 2 = =W AHIRER = w, BNE s T -
Item 3 Z = 3507 [R5 2 I AR A, 22 0 R i Y 4 ) 44 5
The following items were found challenging:

Item 5 = = LE Sk, N AAE N iL. Some candidates wrongly chose“ZE T /%% 1 ”as the
answer as they did not read carefully or they simply did not understand the story.

Question 4B

Question 4B assesses candidates’ ability in reading comprehension. This extended reading
comprehension task goes beyond literal understanding of a text and a range of reading
comprehension skills are assessed.

This question carries 10 marks. Many candidates lost marks in the last item question number
6 where candidates had to label the sentences based on the chronological order of the story.
Many candidates could not differentiate between the names of persons and the verb |7 in
question 3. They thought that the verb [1] was part of the name of a person.

The following items were found challenging by the candidates.
Item 2 M= = A VTERINE, ZIT2E 4 H)? The expected answer was & = = /&
AR T RARIR TR T .

Item 4 75 75 2 E AL BZEH KM ? The expected answer was W45 =~ — R It EEZ R/
345 2~ — RAR KIIL B . Many students wrongly wrote 75 75 f8 H T — AN 702,
IhE il =% . It seemed that many candidates did not know the meaning of the question
word /£ and hence could not attempt items 2 and 4.



The best done items were:
Item 1 =z FIEALTE—EL? The expected answer was 75 75 .

Item 5 N4 = 25— RHBIEA SE? The expected answer was K /b 1 D051 4 /%
B W/MRFEZE.

Question 5

Question 5 was split into two parts: 5A and 5B. This question evaluated candidates’
knowledge of grammar in writing at sentence level.

Question 5A

In this question, the candidates required knowledge of syntax in writing the sentences
through re-arranging jumbled words. It is to be noted that the candidates had to answer
correctly to score 2 marks in each item. If for one item, candidates got the answer partially
correct, no marks were allocated.

45% of the candidates could not attempt this question as they did not understand the
meaning of the Chinese characters and hence had difficulties in writing a correct grammatical
sentence. Only 4 % of the candidates scored full marks in this question.

The best done item was:

Item 1 . AT, FiE. IRZ 4. LT The expected answer was FAJEFIEL TIRZ
5.

The most challenging item was:
Item 2: =548 AT, W&, X, [ The expected answer was iX il A& AT 4 FAE.
Question 5B

For this question, the candidates had to complete the given sentences. This question also
assessed candidates’ writing at the sentence level. Knowledge of syntax was assessed through
the sentence completion task. This question carries 6 marks.

Item 1 is to assess whether the candidates could understand the meaning of“{f% 3 i s
fE”which was given in the first part of the sentence. Some examples of correct answers were:

BRI, BT LD .
(B ZIDENE P CV S Tl N
BRI, FATRIRFIL .
BRI, A AR %
BRI, 3% T I .



="

Item 2 assessed whether candidates could understand the meaning of “& K K% "to
complete the sentence. Examples of correct answers written by candidates are given below.

MR KK LA
EIIRKFERE
BIARREEZWEIZ I -
BMRKK KL,
BIRRR =KL

Item 3 assessed candidates using the conjunction word“/f\H”. The first part of the sentence
was 253 ANH E XL Many students had difficulties in completing this sentence as they
did not know how to use the conjunction AMH.....Tf] H. /1L to make a sentence.

Question 6

The cloze-test is a higher order reading task assessing the use of language which requires the
ability to rely on the context to guess the suitable word for filling the blanks. It aimed at
assessing the candidates’ ability to read with understanding. Candidates had to fill in the
blanks with appropriate words from the list of words given. This question carries 10 marks.

This year, the passage set was based on the following story:

One day, a birdie told its father: | do not want to fly because | am scared.” The father told it
not to be scared. It should try to fly because it was gradually growing up and the nest would
soon become small. After hearing its father’s words, the birdie looked down from the tree. It
thought:” the tree is too tall, | cannot fly.” The wind was very strong and the birdie felt that it
could fall down. At that moment, mother told it not to look down. Mother said it should be
more courageous. Father and mother told it to fly by itself. Finally, the birdie flew out of the
nest. It had learnt how to fly.

Many candidates lost marks because they could not fill in the words: “FE4f1”. “BEE”. “#
1E”. “£K”in the appropriate blanks. .Some candidates could not distinguish between the
words T and 4.

The best done items were:

Item 4 /N S A EAETE

Item 7 JXIf, U0 EIFEANELTE.

The most challenging items were:

Item 6 /N3 H O fEH 1. The wrong answer was K.

Item 8 (L 1i ) MV i%Z B El. The wrong answers were v, Kk, &,



Item 9 T EWEA L FEE H D GEER. The wrong answers were K K. K. &, #HIE.
A

Item10 5t J5, /NS KRH T 85, B4&T%4 7 K. Thewronganswers were $#7E. A8,
. F=0.

Question 7A

This question assessed candidates’ ability to deal with spelling in context. Five short sentences
containing spelling and grammatical mistakes were set and candidates were required to
correct these mistakes. Some candidates had problems in writing the right Chinese characters,
hence they lost marks. This question carries 5 marks. There were 54 candidates who got (3-5)
marks.

The best done items were:

Item 1 XIUK WLE|—/NERE (L)

ltem 4 =} AF EFIVAE AL 1, WATENIZIEM () o
Item5 FEKR, A ( & ) ZERLR.

The following items were found challenging:

ltem2 FEWSERMFEH ( H ) . Some candidates did not understand the meaning of

the sentence at all, all these students lost marks.

item3 A ¢ H O T, REAEFELBNAT . The same as item 2, many

Pt
F

candidates did not understand the meaning of “JF , hence they lost marks.

Question 7B

This question assessed candidates to write the appropriate Chinese character according to
the provided Chinese pinyin in the given context. Some candidates demonstrated excellent
understanding of the sentences and scored maximum marks. This question carries 5 marks.
There were 32 candidates who got (3-5) marks.

The well done items were:

Item1l —FH+-1NH (yud) .

Item 2 FATHH L AE (yudn) 1HIK.

Item 5 & RIS ER 1, RIRARF mX (Xing) .



The following items were found challenging:

Item 3 HMHFHE MO OH EXR (yi) . Some candidates could not differentiate
between “4&” and “—” and wrongly gave “—” as answer, hence they lost marks.
Item 4 HREER (mo) Pik. Some candidates did not understand the meaning of the

sentence, all these students lost marks.

Question 8

This question assesses the candidates’ ability to write grammatically correct and meaningful
sentences based on pictures and five given pairs of words. The different sentences should be
linked together with the given words to make up a coherent short story. This question carries
10 marks. There were 68 candidates who got (6-10) marks.
A number of issues were noted:
* In some cases, candidates wrote sentences by adding only a Personal Pronouns or a
Verb.
« Some candidates did not understand the given pair of words in item 3 “Z%K----F”
and item 4 “jEER----Z: 757, therefore they were unable to write a correct sentence.
» Some candidates could not use “ZX” properly.
Item1 —K----- il
This was the best done item in Question 8. Candidates produced simple sentences such as
—R, TAT—FANLHFL.
—R, RMEEWLE—ERHEL.
Nevertheless, some issues related to grammar and syntax were noted. In several cases,
candidates produced flawed sentences such as:
PAT—R LML
AT LD — K.
Item2 3|7 - BZIR
This item was also well done in Question 8. Candidates produced simple sentences such as:
B VL, AL
B 7ML, AT T RIZIR .
But here also some issues pertaining to grammar were noted, for example:

NGO



B 7 AN T

There were also some candidates who wrote the sentences by adding the personal pronoun.
For example:

B, AT

BT, KRHEGR.

Item3 FHR -

This item posed difficulty to some candidates as they did not understand the meaning of “%&
#X” hence they could not write good sentences and lost marks. Some candidates produced

good sentences such as:

AT NIN Y NP

NN T

There were also many sentences containing syntax errors:

RINA T o

Item 4 LR ---- g Y]

This item was also well done in Question 8. Candidates produced a variety of correct sentences
such as:

AT PRAE A PE USSR

AN EE T UL U PR ISR 25 78

There were also many sentences containing syntax errors:

AT TEE PRI SR 78

AN AR AR VY

Item 5 5 - K

This item posed some difficulty to candidates. They had to struggle to find the right vocabulary
for writing the grammatically correct sentences. Some candidates produced good sentences
such as:

w&a, WHEEWILERD T K.

we, PAUR AR 15

In some cases, candidates did not use “ZX” properly, they produced some sentences such

as:



A EANRRIER
B Ja RE KK
Question 9
This question tests the ability of candidates to write a coherent piece of continuous prose of
about 100 words based on a given canvas. It assesses higher order writing skills, especially,
candidates’ ability to develop a given storyline creatively and coherently, use accurate
grammar to express themselves, their ability to use varied sentence structures and the
richness and appropriateness of the vocabulary used. This question carries 10 marks.
The following prompts had been given to guide the candidates:

© PRAIZRAAESETH

o« RIRUr BIE NI ARATTH AT

« ARMIZE N E AWM ?

s HJEEARE?
Performance on this question was, on the whole, below expectations. Some candidates

indeed produced good pieces of writing in a satisfactory way. There were only 31 candidates
who got (5-10) marks. A good number of below average candidates did not attempt this
qguestion and did not score any mark, the majority of their compositions were full of
grammatical errors. Inappropriate use of case-endings, wrong words, inappropriate verb-
tense usage and sentence writing were noted. This showed that candidates had not mastered
the skills for writing an essay.

The following sample of compositions is an illustration of the strengths and weaknesses

encountered in this year’s paper.

Composition 1 (9—10 %)

BHINE B, BMFENAESRT KZE . WIS T HAKER, — R Ti.
RARBAI 2] 747 NN . ZADNRAEFFT. MRE TR ZF55xHA]
Yoo CRIIETIRE . MRATATRER MK 7 JAIT TARRTE S B . R )52 Ak
MIABERATN A . BIEZFFHIS, AR,

This composition is a good piece of work. The candidate made a noticeable attempt to

develop the storyline. The grammar and overall Chinese expression are good. The vocabulary
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is wide and precise. The sentence structures are varied, this demonstrates the candidate’s

skill to use different lengths and types of sentences for particular effects.

Composition 2 (7—8 43)

HRy BMFNERT TR L HR, BRI RIRIATI 214 Ay
AT TATEEM, —DIARNHR . TOTLFHEIM . FATRIES &,
—NNEE, EEORT, AR NEIRE R . WS TRA T — R AL R T 135 it . IRAER
AR ZE B K. AR 2%

This composition is relevant to the theme set in the examination paper. The writer has
described that what happened while he heard a voice “help!” from somewhere. He was able
to express himself when he saw a boy was in danger. Sentences show some variation in length

and style, including the confident use of good vocabulary “#f1&” . “HHR”7 . “iE\A

Pi.” and “#1 3K . However, a few errors were noticeable.

Composition 3 (5—6 4)

EARM=, swidiEsem. gEXER. BRINREE R, JITEEE LK
HER BEAERELFER. TATRARYr 26 NMEATF . RAREE LK. KA
FEFK, W REREE. HnBATEEE T RNEER. BEREY.

From this composition, we could see that the candidate made a noticeable attempt to
develop the storyline. The story is organised and contains enough relevant details. A variety
of simple and complex sentences were used. However, a few grammatical and spelling

mistakes were identified.

Composition 4 (3—4 43)

BN, WMFANERN. KTTRRZ AN, RAMHEE B WE R FA I 2005505 K 1)
Ho MR AT, AL LTS FRIRFANIr 2H N KK . ATl EF
BN AT MR s RN I RO 1o SIRRAER T BAHEAN—
BEFEERE. ALY, RIREBRN BRI T /M. FATHIR =%

This composition is incomplete. In fact, the story is a basic one with little development. It
contains many grammatical mistakes. The sentence structures are very simple and lacks

fluency.
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Composition 5 (1—2 43)

SRIAEHFD . ZPANEKEDT. ZFAE L. — DIEERRAT . iz AT %7K
B AR EMZFAVEARR . EBIEA . RATEZMIBAR .

This composition can be categorised as very basic story with very little development. The
vocabulary used are simple and inaccurate. Many grammatical mistakes have been noticed

throughout the story. A few sentences are meaningless.

Recommendations:

The following recommendations can improve the teaching of Modern Chinese as a foreign
language to Mauritian students in primary schools:

1. Teachers should create a better learning environment in classrooms by making use of
blended-learning methodology and interactive strategies.

2. The use of other languages like English, French and Creole should be avoided as far as
possible while teaching Chinese.

3.  More emphasis should be laid on vocabulary, grammar and the application in sentence
writing.

4, Students should be motivated to develop their listening and speaking skills by

communicating in Chinese language.

Conclusion

Most of the candidates did not have a good basic knowledge of Chinese Language. With
regard to this, Teachers are required to instruct and train the students how to read,
understand and answer the questions as required in the question paper through the use of
different innovative strategies and approaches which will be helpful and encourage learning
to take place in a pleasurable environment. Teachers are requested to get acquainted with
the use of multimedia tools, conducting online classes and using various online platforms to
make the teaching and learning process more conducive and effective so that there is

continuity of learning.
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